TR2OFERREDRERSE

Bt BRSOEH BRENRER RERE mpy| B2 | SRS
%%ﬁ*fi% REM |EBR [rgp#. fv v, beh. 59 % Tt A 56 | 112 | o
(RESR) 3 RERE 8 1840 0
ny 10 2300 0
HEHE 12 2760 0
Ay 6 1380 0
kb 6 1380 0
f-FEhE 4 920 0
ES5M6BL 6 1380 0
NEE® 6 1380 0
IFhils 5 1150 0
I AL 3 690 0
=Y 6 1380 0
[s3=1 8 1840 0
B2 S 10 2300 0
MNEDIR 8 1840 0
[F<EL 11 2530 0
KiRDIR 12 2760 0
h&E 7 1610 0
ESNAZS 6 1380 0
LwAZEL 2 460 0
RENEER T BEHMAEES
(TFSH A0 RINEDE) A * °
mEtEES L 0 0 0
H/A (FR BEHYREES
(TRSHYAI) O RIEME) 2 % °
HE |BHA HERE (YLERSEE. REK
SE KiSHE. BEHmERSE. AoE [ 5 25 0
7 ONY4—RHE. BBEITFIKRE)
] 500 WERE 8 16 0
HRERSMAEESR 5 5 0
(FrSY AU RFENE)
RO HILERSBHEE 2 4 0
ETR ] EEE) AR 8 48 0
WEHEES I L 20 40 0
ANE {7H% FEMES 4 4 0
THY MELEE 2 2 0
. FEERS 8 8 0
/894 LR 8 8 0
ITO . HT5, RIVAH%E WEtEES L 49 68 0
— HERSMAEER ) 6 0
(TRSH Ao RINEYE)
mIg&F RE—T—R EF IRSLI+—5—%F |BEHHEEIYL 75 150 0
EF . EHEB TUILX B (NE, EIEE) 8 16 0
RE—D7—F TLLX—¥E (3L, 0 8 16 0
HAFE TLULX—9E (ZIE) 8 8 0
FLILX—D)—RH TLLE—YEEFERERMBTISE) 4 28 0




BRLVER

oL E 8 8 0
BRI (RIEH) 8 8 0
ERMHRA MEBE (RS 5 5 0
xiE HERE 8 16 0
FLE5E0 HERE 72 216 0
LR LA R (RE—T—RE) bl e- 2 20 40 0
53X ED BRBENY RIER) 10 10 0
BRI &SR (TR 2 2 0
HIRRE HMES BRFNYGEEH) 12 12 0
g4 B iRy (BRE G H]) 6 6 0
EFL BR AN (BE R LF) 2 4 0
BRI (R7EH) 5 5 0
ASE )
BRAEMY (REFH) 5 5 0
RRERE 10 1800 0
AERS
HERE (DK 10 20 0
TOft MBS HRME 10 10 0
/ML 645 [34,126| 0
EwE|  EREO®WY RENSRER RERE wuy| BT | ZRSE
(%%Jt%) BEKED |RED %fén N BEER 2 460 0
LEY 4 920 0
FLoo 3 690 0
JgL—=roNL—y 3 690 0
3= 2 460 0
INEH 1 230 0
F3NAZS 1 230 0
SPOVAITA 3 690 0
INTUH 3 690 0
h& 2 460 0
Lt B w0 (A OED 4 28 0
Lo 3 21 0
JL—=7IL—y 3 21 0
b HA SRAEENE
(T>A7a%4o) > > 0
BANE IE BEDYAEE S
(FRSHAOULRBENE) > s 0
MIR&ES RS REFNN (RIFH) 1 i 0
BRFENY (FEH) 1 1 0
o4 BSAEMY (BIL R EF) 6 6 0
(ZESETE R AN (BAL D5 H) 8 8 0
AEBS RERRE 10 1800 0
MERE () 10 20 0
FRREm B |xs HRAERT 10 30 o
roEOOY 5 5 0
Z0ft BEER EERRS 10 100 o
/Bt 105 | 7,581 0
&% 750 |41,707| O




